



SARF CHECK
FOR STACY ON
DEC 11, 2019

FOR \$627.79

\$1872.21
PEMAINING TO BE
DOWNTED

REIMBURSEMENT OF EXPENSE REQUEST

		DONATER
Project Name	DISTRICT GRANT PRO	JECT #Z901
Member Name	STACY EDWARDS	
Expense Date	11/4/2019	
Purpose	SCHOOL CLOTHES-GA	PANADA INEST ELEMENTA
Total Amount Requ	uested	627.79
Description detail:	(Also indicate if this was a CLUB o	or FOUNDATION expense)
DISTRICT C	TRANT PROJECT #	293.1
PARTIAL E	XPENDITURE TOWA	2931 RDS THIS PROJECT
BUDGET	2500.00 LESS 6	27,79
BAL	AVAILABLE FOR PA	ROJECT = 1872,71
Member signature	Edu	11/22/19 Date submitted
	1	

Please attach ORIGINAL receipts if possible, make a copy for yourself before submitting. Otherwise, copies will do, but a receipt must accompany this request.

12/4/19 Date Paid to member

100 | FOUNDATION
Check number & account

Al Dixon

From: Stacy Edwards <stacy@edwardsdesigngroup.com>

Sent: Friday, November 22, 2019 3:34 PM

To: Al Dixon

Subject: Reimbursements for School Grant- Purchase items

Attachments: receipts.pdf

Flag Status: Flagged

Hi Al

I have two receipts attached and one email receipt below, for items that I purchase for our Granada Elementary School Grants. The total is \$627.79 Have a wonderful Thanksgiving!! See you soon

Thanks

Stacy

Stacy Edwards
Office Manager
stacy@edwardsdesigngroup.com



From: hanes.customer@hanes.com <hanes.customer@hanes.com>

Sent: Sunday, November 10, 2019 10:05 AM

To: Stacy Edwards <stacy@edwardsdesigngroup.com>

Subject: Your Order Confirmation # 428958962 - Thanks for your order. Here's something extra just for you

Add hanes@mail.hanes.com to your email address book.



COLLEGE APPAREL







The Hanes Family of Brands

Order Confirmation

Dear Stacy,

Thank you so much for shopping our Hanes Family of Brands. We really appreciate your business!

This email confirms that we received your order. The details of your order are shown below. You will receive a second email when your order ships.

JUST FOR YOU

Enjoy 20% OFF your next \$40+ order

Click below to activate.

Shop Hanes.com

Shop Champion.com

Shop OneHanesPlace.com

Shop JustMySize.com

Shop HanesInk.com

Limited time offer. Subject to change. Excludes Clearance and Donated items. These products do not count toward the qualifier. Offer cannot be combined with other promotions. U.S. Deliveries only.

Click to activate.

Order Number: 428958962

Items Ordered:

Item Description	Status	Quantity	Unit Price	Discounts	Total	
------------------	--------	----------	------------	-----------	-------	--

Hanes	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt	In Stock	6	\$8.79		\$52.74
	Style #: P480 Size: S Color: Deep Red					THE THE
Hanes	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt	Backordered	5	\$8.79		\$43.95
	Style #: P480 Size: M Color: Deep Red	3		mil n	00 W	h-C

Hanes	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt Style #: P480 Size: L Color: Deep Red	In Stock	5	\$8.79		\$43.95
Harres	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt Style #: P480 Size: S Color: Navy	In Stock	5	\$8.79	i alakada	\$43.95
Hanes	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt Style #: P480 Size: M Color: Navy	In Stock	5	\$8.79		\$43.95
Hanes	Hanes Comfortblend® EcoSmart® Full-Zip Kids' Hoodie Sweatshirt Style #: P480 Size: L Color: Navy	In Stock	5	\$8.79		\$43.95

Applied Promotions:

4-5 day shipping \$4.99 with \$60+!

Order Total:

Product Subtotal: \$272.49

Shipping: \$4.99 Estimated Tax: \$21.78

Total: \$299.26

Shipping Information

Shipping Address

Stacy Edwards 8151 E Smokehouse Trl Scottsdale, Arizona 85266-1302

Shipping Method:

4-5 Business Days

Billing Information

Billing Address:

Billing Method:

Stacy Edwards 8151 E Smokehouse Trl Scottsdale, Arizona 85266-1302 MasterCard Credit Card

We're here to help! 1-800-503-6702

Our mission is to provide our customers with the best and most convenient online shopping experience possible. We are committed to providing you with excellent service and top quality brands.

© Hanes.com 2019



FAR NAPH; SCOTTSDALE - 480-575-7043 11/04 2019 02:19 PM EXPIRES 02/02/20

CLOTHING	ALCOHOLDS	
036030718	CAT & JACK T	\$6.99
036050829	HANES ATHLET T	\$8.47
036051321	CAT & JACK T	\$5.99
036051322	CAT & JACK T	\$6.99
076036091	CAT & JACK T	\$12.00
076036092	CAT & JACK	\$12.00
076146653	CAT & JACK T	\$20,00
13.07%	2 @ \$10.00 ea	11
076146655	CAT & JACK T	\$10.00
076146656	CAT & JACK T	\$20.00
	2 @ \$10.00 aa	

T = AZ TAX 8.0500% on \$103.44 \$8.33

*7953 MASTERCARD CHARGE \$111.77 AID: A0000000041010 MASTERCARD

REC#2-9308-1327-0076-7609-5 VCD#752-259-638

alp make your Target Run better. Lak. a 2 minute survey about today's trip:

informtarget.com User TD: 7069 1867 3992 Password: 323 905

CUENTENOS EN ESPAÑOL

Please take this survey within 7 days.

See back of receipt for your chance to win \$1000 ID #:7N7XJW215YWF

AACHII ICH C > 7
480-296-7398 Mgr: OFA MAKA
34399 N CAVE CREEK RD
CAVE CREEK AZ 85331
ST# 05835 0P# 009045 IE# 45 TR# 09497
BOYS TOP 880959810303 5.96 X
BOYS TOP 880959810303 5.96 X
BOVS TOP \$20050210303 F OC V
BOYS TOP 880959810303 5.96 X
BOYS TOP 880959810307 5.96 X
BOYS TOP 880959810303 5.96 X BOYS TOP 880959810307 5.96 X BOYS TOP 880959810302 5.96 X
BOYS TOP 880959810302 5.96 X BOYS TOP 880959810302 5.96 X
5,96 X
BUYS 2PC JKT 019032242007 9.00 T
BUYS 2PC JKI 019032242021 9.00 T
BUYS 2PC JKI 019032242019 9.00 T
BOYS 2PC JKT 019032242019 9.00 T
BOYS 2PC JKT 019032242014 9.00 T
BUYS 2FC JKI 019032242014 9.00 T
WN 14 PK BR 001461428927 9.98 X
WN 14 PK BR 001461428926 9.98 X
BOYS TOP 880959810302 5.96 X BOYS 2PC JKT 019032242007 9.00 T BOYS 2PC JKT 019032242019 9.00 T BOYS 2PC JKT 019032242019 9.00 T BOYS 2PC JKT 019032242019 9.00 T BOYS 2PC JKT 019032242014 9.00 T BOYS 2PC JKT 019032242014 9.00 T BOYS 2PC JKT 019032242014 9.00 T WN 14 PK BR 001461428927 9.98 X WN 14 PK BR 001461428926 9.98 X WN 14 PK BR 001461428926 9.98 X 10PR PK SOCK 075103884513 6.97 X
GLKL 1U PR 0/3083882337 6 97 V
10PR PK SOCK 075103884514 6.97 x
GIRL 10 PR 073083882338 6.97 X
GIRLS SOCK 1004282571278 7 07 V
10PR PK SOCK 075103884515 6.97 X
BRIEF 088530686654 7.96 V
10PR PK SOCK 075103884515 6 97 X BRIEF 088530686654 7 96 X BRIEF 088530686652 7 96 X BRIEF 088530686653 7 96 X
BRIEF 088530686653 7.96 X
SUB-101AJ 198 32
TAX 1 9.300 % 18.44
TAX 1 9.300 % 18.44 TOTAL 216,76
MCARD TEND 216, 76
CAPITAL ONE **** **** 7953 I 1 APPROVAL # 09551Z REF # 1042000314
APPROVAL # 09551Z
REF # 1042000314
AID A0000000041010
TC 40EAB2DAB518AFAA
TERMINAL # SC010609
TERMINAL # SCO10609 *NO STGNATURE REQUIRED
11/04/19 19.40.20
ITEMS SOLD 26
IC# 1863 0042 5345 9473 8997 6

Prices You Can Trust. Every Day. 11/04/19 13:43:29 ***CUSTOMER COPV

Scan with Walmart app to save receipts

